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Write and evaluate expressions involving powers and exponents
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Simplify real number expressions by multiplying and dividing monomials
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Use the Laws of Exponents to find powers of monomials
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Use scientific notation to write large and small numbers
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Find square roots and cube roots
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Solve two -step equations
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Solve equations with variables on each side
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Solve multi -step equations
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Identify proportional and nonproportional linear relationships by finding a constant rate of change
'I‘MA.‘.ha-ual.uJ.-usldg.\:-Jéuamgd*w.qﬂlu.ud)wluﬁblhau
(1 i) el il gl QUL 355 o 13) Lol .Caldl piid) Jine dorgld (2UAS COlS 13)
i) A3 ¢l S AalSH adogin o] puusn! lpadady o)) Wblued! 3 AdUas¥) o)) Gy
1. asid) gl 2. :
(s) oyt 1 2 3 4 (c) Ca 2 4 6 8
(h) a3 (AED) sy L5 8 3 ; ;
- q i = 25 3
15 Blag | 49 196 441 784 @y 4 |2 %
> (m)
m
8 24
12 36
24 72
4. o 3 6. 300 |
’i 10 5. '3 60 ‘— o
3 3 ; 3: 200
3 6|te = ]
~ 4 = % 3 100
£ E a5 [
= 2 e X X # X
0 2 4 6 =
0 246811 0 > 10 %
in) 4 : | a .t
(min) csa ! (in) dday & (ple ADLudf o land¥ sue
k) (B (iionid o) (el (i etllS Ao davgd LS 13 Lo S
) (2 i) low b 7 g e L
5 pd -9 3 e .8 1 e 7
050 250944 7 N ER T QR =PV RVRFT Y PV 11



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://iwtsp.com/971502509447
https://t.me/mathbook_8
https://t.me/mathbook_8
https://t.me/mathbook_8

e il lnisa ] i) Joo https://t.me/mathbook 8 %@E e
— Gl h 24 83 B s e,

A8 ¢ sl pdlg el CMdalg eglamdl plustul el dousds
12 - - 1to8 185

Use tables and graphs to find the slope of a line
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Use direct variation to solve problems
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Graph linear equations using the slope and y -intercept -
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Graph an equation using the x - and y-intercepts
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Write an equation of a line
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Solve systems of equations algebraically
(201 53) G e AdEI) ¥ 3lagd) Agdald] U3
[
1. y=x+5 2. y=x+12 3. y=x—10 4., y=x+ 15
y = | y = —18 y=—12 y = 2x
\ \
| |
| | |
| | |
| |
| 1
5. y=2x — 3 6.y=zx 7. y=x+12 8. 10x + 3y =19
x+y=18 ' x + 4y =8 4x + 2y = 27 y=2x+5
| | |
| | |
| | |
| |
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Represent relations using tables and graphs

(1) gty Jloned! 3isr @8 il iy Jouor JSd B W0 US (e yic
(8, 5), (=6, =9, (2, 5), (0, —8)} 2 {(215 —115), (2, 15) (—1, 2‘5) (—1, —1‘—)}

2

X y y
% Y 8 1 x y
&3 I| 2
4 I|
| 1
—8 —4 (0] 4 8 x
-2 -1 0 1 2 X

-4
-1

—8
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Find function values and complete function tables

gk Leo US Zed dg]

00 = 3x— 104515 D EF F0 = X + 13 505 13 A9) .2 £ = 5x o5 13 A7) .1
) |

2 i) Laldeg I Jlove 3 @f I3 JSI WL Jgas (LISY X i) pd o) jis)

4. f(X) = 6x — 4 B =5- 2x 6. fX) = 7 + 3x

's éx— 4 () X 5 —2x f(x) b's 7 + 3x f(x)
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Determine whether a function is linear or nonlinear
(21 3 Tl Adas pd pl Audas D13 iy Joar JS OIS 13] Lo 30
ﬂ x =2 2 4 2. X 1 2 3 4
|
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{
3. 5 10 15 20 ‘ 4. 1 3 5 7
13 28 43 58 .;" y -2 -18 —-50 -98
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1|a 37
2|d 38
3(b 39
4 | a 40 | -7/3
5|c 41 | a
6|d 42 | c
7| a 43 | d
8|c 44 | d
9|b 45 | b
10 | b 46 | c
11 | c 47 | a
12 | a 48 | a
13 | ¢ 49 | d
14 | d 50 | a
15 | b 51
16 | a 52 | b
17 | d 53 | c
18 | d 54 | abd
19 | c 55| a
20 | b 56 | d
21 (¢ 57 | a
22 | a 58 | b
23 59 | d
24 | a 60 | b
25 | c 61 | b
26 | b 62 | c
27 | d 63 | a
28 | b 64 | b
29 (d 65 | a
30| b 66 | dshs [ dshs [ dshs suc [ 4>
31 | 7x-6=14 67 |als / bls / cpo
32 | 8+0.30x=11 68
33 | w=-3 69
34 | k=12 70 | d
35 | x=-8 71 |apoe / bls / cpeo
36 | c 72 | C,E,B,D,A
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